201HH 7.5HP 1PH Gearbox Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-1ph-gearbox-assembly



https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-1ph-gearbox-assembly

Description

Index
Number

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

Part Number

201-100

6012034

6012035

6012036

6012037

6012038

6012039

6012040

6293370

6012041

6012042

6012043

6012044

6012142

6012046

6012047

6012048

6012049

6012050

6292789

33-1051-00-1

6012051

6012052

6292745

6012053

6012054

6012055

6012056

6012057

6012058

6012059

6012060

6012061

Description

Gearbox Assembly
Gearbox Body

Ball Bearing
S-Ring

Gear

Ball Bearing

Oil Seal

Shaft

Key

Gear

Gasket

Pin

Gearbox Cover
Hex Socket Cap Screw
Pulley

Flat Washer
Socket Head Cap Screw
Socket Head Cap Screw
Sprocket

Oil Plug

Oil Seal

Shaft

S-Ring

Key

Shaft

Gear

Shaft

Gear

Gear Assembly
Set Screw

Spring Pin

Shift Fork

Lever

Size

6201-2NSE

STW-16

6204-2NSE

TC24x40x 8

5x5x10

M10 x 1.5P x 25Lg

10mm x 25 x 3T
M10 x 1.5P x 20Lg

M8 x 1.25P x 20Lg

PT1/4"-19UNF

TC20x40x 7

STW-25

5x5x16

M5 x 0.8P x 5Lg

4mm x 25Lg

https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-1ph-gearbox-assembly

Qty

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-1ph-gearbox-assembly

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

6012062

6012063

6012064

6012065

6012066

6012067

6012082

6012286

6012287

6012079

6012288

6012289

6012290

6012291

6012292

E-Ring

Shift Shaft

Eye Glass Oil Level
Spring Pin

Socket Head Cap Screw
Spring Washer
Shaft

Idle Sprocket
Bracket

Hex Nut

Stand Off

Check Nut

E-Ring

Spring

Stand Off

Additional Information

ETW-12

5mm x 26Lg
M8 x 1.25P x 25Lg

8.2mmx 15.4

M10 x 1.5P

M10 x 1.5P

ETW-7

Stock Number

Products in this set

1791267-2

https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-1ph-gearbox-assembly

714125


https://jpw-catalog-qa-b2c-2.corevist.cloud/201hh-7-5hp-1ph-gearbox-assembly

